LY zelad] 2850 (1o cilad) 120 Jraxi o

almahah).com/ae

Q2

siiga
il 41 281

dxli) 8axgl) (1o i) dols W) ujal) J> calad)

o)) Jasdl & lal; & 2l I ol & Gl LYl zeliad] & zaliall 2840

2ol ) i) ey s lain Y] Juolgil) 25150 Ll

elali (e ) Canll slge Ll

lol &l dall) dy | dall do M) dyy il

9/2/2020 >3
Ja iy Sl s ali ] 2
Jol (Sl sVl il > 3
10 (> 6 o lazgll Jac 3l 4
alradl s a3 5



https://almanahj.com/ae/4math2
https://almanahj.com/ae/4math
https://almanahj.com/ae/4
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade4uae
https://www.facebook.com/grade4uae
http://bit.ly/2wC5tHg
https://t.me/uae4grade_bot
https://bit.ly/2NTxD9O
https://bit.ly/3synIW0
https://bit.ly/3w0QBwc
https://bit.ly/2OY4dYM
https://almanahj.com/ae/id=10800
https://almanahj.com/ae/id=10800
https://almanahj.com/ae/id=10907
https://almanahj.com/ae/id=10908
https://almanahj.com/ae/id=1965
https://almanahj.com/ae/id=1968
http://www.tcpdf.org




3 # edushare.moe.gov.ae/Uploads/Resources/d964fe66-4080-4a34-952¢-3cf8b08cc6d4/5789673933242368/index.html

M Gmail EB YouTube Q Maps @B Interactive Games... é Whiteboard 'f https://www.iknowi... ’: Math Game: Round... W Whiteboard.fi - Fre... 1 minute test - A ra...

3.15:

What | Have Learned

$

£
L
[
b-

| Wirite two different sentences.

«’r ur -y

Addition

$
\¢]
$
$

Multiplication

Fed! panid! Jaol)

https://edushare.mBe.gov.ae/UpIoads/Resources/d964fe—4080—66
43952-34c-3cf8b08ccbdimth.xedni/4/578967 3933242368




QL2
&30 Lo ls
4 6 2

I-I. | -

I x 8= (4 x6)+ (U x2) »

gz dgud (o> dl ole Judo3

==

$
.
$

Byuzxl! eealall

i

H H
?‘ |
Ao
34 3
H H

*»

L
]







8 X 6 = (8 X 5) +(8><I)<—[ ol gad) g ]
e e § u.;l,ﬁ!‘.v.\.u.ub

«—(ee!)
A8 U8 o e- 48 .




[8.\.:..\.7:)! eealall ]

Jalgall g
/ \A

il ed¥1 gl

=




3 e 13le 7,0 .
SR “gr44 Gaoked | R
502 u,.«a ﬁ.'b JS F1E VY | y,g.-” d.ual.r ..\.a.u.ui S
8 X\3)= i KURES PWFIY

$
$
.
0
$
$
~——

=T Y

O
$

$
£
=

*»

L
]




& ord g0 S slu¥ gl BAL pudil)
503 3.#'4><6= 24 u(6)x 6 = 36
=(2x6) + (2x6) | =(3x6) + (3x6)

= 12 + 12 - 18 + 18
=24 =36

"

C
e
Ll

g
i

==
e==n
=
[ aws ]
=
==

L
g




e )

3 e
&, J.a b S alou @J,.Jl Lol pasid)

50358x9—72 6. 10 x(u)=_40 L]
=(5x9) +(3x9) | =(10x2)+ (10x2) Pjﬂ
= 45 + 27 |= 20 + 20 =N
=72 = 40 )

[ <le gozel! ]

’




e )

3 e
& ré @t S alou @J,.Jl Lol pasid)

5037|2><u—48 8. Il x(8)= 33 o ]
=(10x4) + (2x4) |=(11x4)+ (11x4) Pjﬂ
- 40 + 8 = 44 + 44 =N
= 48 = 88 =

[ olesest! ]

’




r r‘
g.»la ds F1E ) |
@Jg.dl A.uala-
.aml

503
=(19 |0><|0—100
- 10(12)x 60 = 720 L
= 50 + ) |=(10x60) —
_ - ] +(2x60) [ = =
- = 600+ 120 | .
i R ]
[ <le gozel! ]

’




ol cslelid) 352 o553 cags S delu .
el o] 3o 81 o L b

12x5=60 - dclw60




- ol w
506 JLes-%I ‘_,-l-s o
WX 12 slon¥ gosoll) BB gl plasaud) ghg si) L

® (2 X 6) + (2 X 6) © (4 x 6)+ (2 x 6)
@ (U4 x10) + (4 x 2) ® (4 x 8)+ (4 x 3)




